Skill Review for Algebra 2

Name:

The algebra skills on this review must be mastered by all students prior to taking Algebra 2.

Solve the equation:

1. 4n—2(3—n}=-13

3y+2
2 : =7
4
Solve:
25x
3., —-7x=12
5
21x
4, ————8x=24
7

5. Find the slope of the line passing through the points
A{6, —-6) and B(3, -8).

6. Find the slope of the line that contains (5, -4} and
(—4, —4).

7. State the x- and v-intercepts of v = 91 -7.

10.

12.

Graph the linear equation by finding + and ¥-
intercepts. 3x-3y = -9

Rewrite the equation in slope-intercept form.
Sy-2v-7=0

Rewrite the equation in slope-intercept form.
8y-3v-5=0

Find the slope and yv-intercept of the line
6x—3y = —54.

Solve the system by substitution: y=2x-4

v=3x



Simpilify:
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36. Solveforr.2°. 4°. 8
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37. Solveforr 3°.3°.3°'=3
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38. Solveforv 4 °. 4. 4°

]
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Factor:

39. " +15v+54

40. 61" —25¢+25

41. ¥ +10v+9

42, ‘s'z -8y +12

43. .\‘2 +5x+86

Factor completely:

44, 16x° -561°

45. 20x° —164°

46. 21" —35%

47. 15:%-9:°



Solve the equation. Check for extraneous solutions. . 1004 x+8

,2 i«
61, vx+ 2 = x x -16 x-6

¥ -2x-3
68. Simplify the expression. et

,1‘2 -1
62. Yx-3-=5
2 i 12
69. Simplily the expression. Xﬂ—\
X +x-20

83. ¥r-9=-3

2v-3 ' +4r+3
70. Multiply and simplity, ——~—> = £ =4

(_.x’-:—S}Z 4y -9

64. {3x-81" =5

2 2
X +8x-20 X7 +9x
71. Divide and simplify. ) = m= 4
5x° +50x" ¥ +7x-18
4y®  25x
65. Multiply: —= . =
5 20y
72. Perform the indicated operations and simplify.
r+2 ¥ 49y ) 3x° ﬂ-iix1
Divide: - ;_ o 2oy _
2k*
66, ——
3



85. Perform the operations and simplify.
3x+4 2

x2—16 x—4

86. Perform the operations and simplify.

3x-5 2

x2—25 ¥+5

87. Perform the operations and simplify.

4x 2 2
x -8 1+3 =3

Simpilify:
—-3x+8 x-5
88. -
-10x -10x
1+8 3x—8§
89. +
8x 8y
-3x+2 —-x-2
30. +

24x 24 x

— Xomi] -3x+7
91.

161 16x

-x-3 —-x+3
92. ;

-6x -8x

3x+6 3x—6
93. ;

84x 54x

2v—4 2y+4
a4, -

—-32x —32x

3x+9 -x-9
95, :

—14x -14x

x-3 -3x+3
86. —_—

—10x —10x




